1. o= E27] A 71 2 & Fohd?

1 3
® 3 ®\/£ ® V7 @)3

® V8

B
SV ESVERRY SE R

1

227} 242 MdohE 35 VB> VT s \/}_

2

olct.




@«/5—1

@) vo3

® -+0.16

@ 1.27

® -V4

‘ -0.16 = -0.4 , - V4

—20|BE &




3. VI5x V20 =aV3 & u, a 9] 32

@ 8 @10 ® 12 @ 15 ® 18

B

VI5x V20 = V3x5x V225
= V22x3x52
=103

Soa=10




_ V27
. ©-F--V8

@
© Vi6B+ V6 —=2v7 ) zvmsva:;*
@

R
o2VE_2 [ 2V




=

o

Ho

A9]

2l

Q]
=

2x-y)(x+y)-3(2x—y) = x 2ty S A7 190 F

(

5.

® 2x+2y-3

@ x+y-1

@ o

® 3x-5

@®)3x -3

m
=)
)
)
|
S -~
ot
=
o A
o |
o &
o |
==
| |
==
S, &Y
™M o
| |

(x+y)
(x+y)
et = @AY 2x -y 2k x+y -3 9

(2x-y)
(2x-y)

~3 o]t

[e]
= o

_(_g_




6. t=F At ErEA 2 A2

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

@ 4a? - 2ab = 2a(2a - b)
®-x*+1=—-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x-4)




6x2—x—-2,4x2—4x-3 ,2x>+ax-27Fx o W
ol 7Hd wf, a o] FF2 oY

® 9 @ 6 @3  @-3

~&B

6x2 —x—2=(2x+1)(3x-2)

Ax? —Ax -3 = (2x+1)(2x - 3)

5% dFE 20 + 1 0T

2x2 +ax—2=(2x+1)(x-2) =2x2 - 3x -2
L a=-3




8. 49 AFTLa.25 o AFIL b AT T 1] (2 9 G T
7

® -10 @ 10 ® 50 @ -100 @100

—

a? =4, b>=25
a’b? =4 x25 =100




2o A2

® VE 9
® ~(V5)”

49

o ABE = -V2

©
=




® VI3 -6 o tlgats He B o]t
@ A A 2 C Aol o] Aok A Aold
® V745 - 0 Ll 4 gk,

@) V5 + 10] H34= 7242 B ot
® V2-121- V2 Hr} 9%0] 9173t

D VI3 -6 o th-gate e A olch.
@ A A 9} C Ao 9] ko] A gk,
® =gt oz yehd 2 gk

m

@VZ-1L1- V2 B} Q2% 9Jx|girt.




11. V192- V54— VI8 + V24 E aV3+bV6 &l B2 1A 1, g — b 9
e ah?

® 1 @2 @) @ 4 ® 5

~&B

V192 — V54 — V108 + V24
=8V3-3V6-6V3+2V6
=2V3- 6
La=2,b=-1
wa-b=2-(-1)=3




2 av2 o2 V2,
12. A_\/§+ 3 ,B_‘/§+4 A

T5HH?

® 2446 @)1 +4+6

@ 6466 ® 6486

o, V3A +4V2B 9 3

® 4+6V6

2 4vV2 42 2
_ 2 V2 «/_+ V3
3 3 3 3
2 2 2v3 V2
p_2 M2 _2V38 V2
N 3
V3A + 42B
4v2 243 23
=3 —\/—+—\/_ +4v2 2
3 3 3
4v6 6 86
=T 4242840
3 T37 3 *
3
=4+46




13. ©he 77150 BAE ol Zo]o] ge?

@ 12V3+5V5 @ 12V3+95

//\\ \‘
® 24v3+5v5  (@)2uv3+9v5 ANYE
® 24V3+ 185 - N

\\/E,

A7) 50 mA o] Aol & VIS x 6 + V45 x 3 =
243 + 95 ot}




il

14. V29 A5 K EZa, 25 FES b 2L T W, 24% +5b 9] T27?

D -1+2v2 @ -2+242 ® -2+442
@—3+5\/§ ® -4+542

B )
1<V2<20|B2a=1b=+V2-1

2a% +5b =2x12+5x%x (V2-1)

=2+5V2-5

=-3+5v2




15.

0<x<7dm, Va2 = T6x+ 64— Va” + 10x + 25 & 13| 5147

@—2x—|—3 @ 2x+1
@ 3x-1 ® -3x+1

® -2x-5

B

Va2 = 16x + 64 — Vx2 + 10x + 25
= /(x-8)2- \/(x+5)?

= |x—8 —|x+ 5|
=—x+8-x-5=-2x+3




